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QUESTION 1

What is the maximum number of characters permitted for a Set Name in a default installation of IBM SmartCloud
Control Desk 7.5.1?

A 4
B.8
C.30
D. 255

Correct Answer: D

QUESTION 2

Which two pay rates can be specified when defining a craft record? (Choose two)
A. holiday rates

B. outside rates

C. contract rates

D. overtime rates

E. standard rates

Correct Answer: BE

QUESTION 3

What are two options when setting up software contracts for an organization? (Choose two)
A. Associate Terms

B. Associate Pricing

C. Associate Properties

D. Associate Tax Status

E. Associate Vendor Status

Correct Answer: AE

QUESTION 4
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What is the purpose of the Task filter?

A. to filter the list of Assets for reconciliation

B. to filter the list of Deployed Assets for reconciliation

C. to filler the discrepancy list for which an Incident should be raised

D. to filter the discrepancy list for which a Service Request should be raised

Correct Answer: B

QUESTION 5

If a user attempts to receive an item designated as software and its inspection status is incomplete, what could be the
cause?

A. The item\\'s status is Obsolete.

B. The item is not listed in the Software Catalog.

C. A software license has not been associated with the item.
D. A warranty license has not been associated with the item.

Correct Answer: C
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